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 TrigonometryExercise5 Answers for No.9594
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
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

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





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

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

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8 
3

2 
3

.9










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

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

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

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
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
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
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2


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















Tan







arcCos

-2

7

3 5

2
.2


















Sin









arcCos 

3

5
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5
.3
















Cos







arcSin

-1

3

2 2
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













Sin







arcTan
1

4
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.5 ( )( )Sec ( )arcTan  2 3 .6









( )Cos ( )arcTan -5
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













Tan







arcSin
1

4

15

15
.8














Csc







arcCos
4

5

5

3
.9


















Cot









arcSin

3

7
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
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





Sin 







arcCos
1

4







arcSin
4

9


15 65

36

1

9
.2
















Cos 







arcCos
2

3







arcSin
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5


4 5
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2
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.3






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


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
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







cos 2







arcCos
1

2

-1

2

.5


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

( )arcTan ( )Cos 2  ( )Sin 5 


4
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









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





arcCos







Sin 
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6







arcSin



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

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 TrigonometryExercise5 Answers for No.9646
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

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
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( )arcTan 1


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.2













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3

2
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


arcSin

3

2


3

.4

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












arcTan 

3

3


6

.5 ( )( )arcSin -5 undefined .6






( )arcSin 1


2
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

















arcSin 

2

2


4
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





( )arcCos 0


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


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
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1

2
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
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







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2

2

2
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2
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2

3

2
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









Tan







arcCos
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2
 3 .5
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











arcCos







Cos
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5 
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




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







arcSin



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
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
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
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
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
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
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
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









arcCos







Cos
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3

2 
3
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
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











arcTan







Tan 
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6
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6
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
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







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


Sec


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arcSin
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2
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

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
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
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
ArcCos
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.1


















Tan









arcSin

5

9
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















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
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

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5

6
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6
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
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

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
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
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
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
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
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

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
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

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
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
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
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
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
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




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3
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
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
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
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

6 3
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
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





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1

4
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-3

4

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





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
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
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
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
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







arcSin







Sin


4


4

.6







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
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3
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





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
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
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





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
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Sin









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
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 TrigonometryExercise5 Answers for No.9669
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 TrigonometryExercise5 Answers for No.9717
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
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.2









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
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 TrigonometryExercise5 Answers for No.9763
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












Csc









arcSin

5

9

9 5

5
.8


















Cot









arcTan

7

3

3 7

7
.9








( )Sin ( )arcTan -2 

2 5

5
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


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


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
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


.1














Sin 







arcCos
1

2







arcSin
1

2
1 .2

















Cos 







arcCos
5

6







arcSin

-4

5

1

2

2 11

15

.3
















Sin 2







arcSin
3

7

12 10

49
.4














cos 2







arcSin
5

8

7

32

.5














arcTan 







Cos

7 
2







Sin 

11 
2


4

.6
















Sec 







arcCos







Sin 

7 
6







arcSin







Cos 

2 
3

2 3

3
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 TrigonometryExercise5 Answers for No.9911
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

























.1


















arcSin

3

2


3

.2


















arcCos

2

2


4

.3 ( )( )arcCos -1 

.4






( )arcTan 1


4

.5


















arcSin 

3

2


3

.6














arcCos

-1

2

2 
3

.7 ( )( )arcTan 0 0 .8






( )arcSin 1


2

.9 ( )( )arcSin -7 undefined
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.1 ( )( )Tan ( )arcTan  3  3 .2


















Cos









arcSin

2

2

2

2
.3


















Tan









arcSin

3

2
3

.4


















Sin









arcTan 

3

3

-1

2
.5














arcSin







Sin


4


4

.6














arcSin







Cos

2 
3



6

.7














arcSin







Sin

13 
6


6

.8














arcCos







Cos 

2 
3

2 
3

.9














arcTan







Tan 

17 
6


6

.10
















Sec







arcSin
1

2

2 3

3
.11
















Csc







arcCos







Sin

7 
6

2 3

3
.12


















ArcSin









Cos









ArcSin 

2

2


4
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








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















.1
















Tan







arcSin

-5

8

5 39

39
.2
















Cos







arcSin
2

7

3 5

7
.3














Sin







arcTan

-4

3

-4

5

.4


















Csc









arcSin 

5

8

8 5

5
.5
















Tan







arcCos

-5

9

2 14

5
.6








( )Cot ( )arcTan 5

5

5

.7
















Sin







arcCos
5

6

11

6
.8
















Cos







arcTan
1

6

6 37

37
.9


















Sec









arcCos

2

7

7 2

2
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
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




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
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.1
















Sin 







arcCos
1

4







arcSin

-1

2


15 3

8

1

8
.2














Cos 







arcCos
1

2







arcSin
1

2
0

.3
















Sin 2







arcSin
1

3

4 2

9
.4














cos 2







arcSin
3

4

-1

8

.5






( )arcTan ( )Cos 5  ( )Sin 3  


4

.6
















Sec 







arcCos







Sin 

17 
6







arcSin







Cos

5 
3


2 3

3

   





























M
a
t
h
@
M
U
T

, ,  Ans5 2  1 2    
















M
U
T

, ,  Ans6 1 2 2    














M
U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600305-00010XX
 TrigonometryExercise5 Answers for No.10027
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 TrigonometryExercise5 Answers for No.10063
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
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


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


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


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


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
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
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
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
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
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
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
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

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

6
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


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

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





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3


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.9


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





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

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

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

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
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












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


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


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
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
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
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Cot
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




arcCos

-4

5
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3
.2














Csc







arcSin
4
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
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




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











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

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




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
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
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


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


Cos


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




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




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

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

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

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
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Sin 







arcCos
5

9







arcSin
3

5

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















Cos 







arcCos
2

3







arcSin
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2

3

3

5
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
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
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

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arcSin
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8
.4


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




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
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

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2

3

1

9
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

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

( )arcTan ( )Cos 5  ( )Sin 3  


4
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
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



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




Sec 







arcCos







Sin 

5 
6







arcSin



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
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
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
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
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
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

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
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
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 TrigonometryExercise5 Answers for No.10367
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 TrigonometryExercise5 Answers for No.10372

, ,  Ans1



























.1














arcSin

-1

2


6

.2






( )arcTan -1 


4

.3 ( )( )arcTan 0 0

.4


















arcSin

2

2


4

.5 ( )( )arcCos 1 0 .6 ( )( )arcSin 0 0

.7


















arcCos 

2

2

3 
4

.8 ( )( )arcSin 7 undefined .9














arcCos
1

2


3

   































M
a
t
h
@
M
U
T

, ,  Ans2

































.1














cos







arcCos
1

2

1

2
.2


















Sin









arcTan

3

3

1

2
.3
















Tan







arcSin
1

2

3

3

.4








( )Cos ( )arcTan 1

2

2
.5














arcSin







Sin 


4



4

.6














arcCos







Sin 


3

5 
6

.7














arcSin







Sin 

17 
6



6

.8














arcCos







Cos

8 
3

2 
3

.9














arcTan







Tan 

11 
6


6

.10
















Cot







arcCos

-1

2


3

3
.11
















Csc







arcCos







Sin 

5 
6

2 3

3
.12


















ArcCos









Sin









ArcCos 

2

2


4

   











































:)

:(




























































M
a
t
h
@
M
U
T
:)

:(

, ,  Ans3

























.1
















Cos







arcTan
7

5

5 74

74
.2














Cot







arcTan

-1

7
-7 .3



















Sin









arcTan 

3

2


3 7

7

.4
















Sin







arcCos

-5

6

11

6
.5
















Cos







arcSin
3

7

2 10

7
.6














Sec







arcCos
5

7

7

5

.7














Csc







arcSin

-1

2
-2 .8



















Tan









arcCos 

7

10


93 7

7
.9


















Tan









arcSin

7

12

7 137

137

   































M
a
t
h
@
M
U
T

, ,  Ans4



























.1
















Sin 







arcCos
5

6







arcSin

-5

7


11 6

21

25

42
.2
















Cos 







arcCos
3

7







arcSin
1

2


3 3

14

10

7

.3
















Sin 2







arcCos
1

3

4 2

9
.4














cos 2







arcCos
3

5

-7

25

.5






( )arcTan ( )Cos 4  ( )Sin 3 


4

.6














Sec 







arcCos







Sin

7 
6







arcSin







Cos 

5 
6

2

   































M
a
t
h
@
M
U
T

, ,  Ans5 2  1 2    














M
U
T

, ,  Ans6 2 2 1    














M
U
T

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600305-00015XX
 TrigonometryExercise5 Answers for No.10375
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 TrigonometryExercise5 Answers for No.10628
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
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







Csc









arcSin

2

3

3 2

2
.2
















Tan







arcCos
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7


33

4
.3
















Sin







arcCos
3

7

2 10

7

.4
















Sin







arcTan
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7
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.5


















Sec









arcCos

5

6

6 5

5
.6
















Cos







arcTan
7

6
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.7
















Cos







arcSin
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6

11

6
.8
















Tan







arcSin
2

3

2 5

5
.9








( )Cot ( )arcTan  7 

7
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.1
















Sin 







arcCos
3

5







arcSin
1

2


2 3

5

3

10
.2
















Cos 







arcCos
4

5







arcSin
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2


2 3

5

3

10
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

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9

-31

81

.5



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



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
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
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
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3 
2



4
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

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

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

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

arcCos



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

Sin

7 
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

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

arcSin
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

Cos
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.1 ( )( )arcTan 0 0 .2

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
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( )arcSin 1
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.3
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
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
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arcSin 
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












arcSin
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2


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.5


















arcTan

3
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
6

.6 ( )( )arcSin 3 undefined

.7


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
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
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


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
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
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
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

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
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Sin







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





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

Tan







arcCos
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















Cos



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

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









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
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

Tan 


4



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









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

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

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


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
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
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

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
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









arcCos







Cos 


4


4
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









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

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
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
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
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
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
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
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
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.1
















Tan







arcSin
5

6

5 11

11
.2
















Cos







arcTan
1

3

3 10

10
.3
















Sin







arcCos
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8
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8
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
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










Tan



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

arcCos
5

7

2 6

5
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
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












Cos









arcSin 

5

6
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6
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
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












Csc









arcTan 

3

2


3 7
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


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


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


Sec









arcCos 

5

8
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8 5

5
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










Sin







arcTan
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7


2

10
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


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










Cot



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

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4
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 TrigonometryExercise5 Answers for No.11560
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 TrigonometryExercise5 Answers for No.11806
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 TrigonometryExercise5 Answers for No.12219
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Tan





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
arcCos

2

2
1

.4
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
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
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
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

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
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
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
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
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

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

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

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

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
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
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
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
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

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

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
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( )Cos ( )arcTan -3
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







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
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


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3 7
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.3












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

Cos







arcSin
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.4








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
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


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


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
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

Tan
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
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

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
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

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
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

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

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
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
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





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








Sec







arcSin
2

3

3 5
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
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










Cot







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3
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
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

arcCos
5

9



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

arcSin
3

5


8 14
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
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
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




Cos 







arcCos
1

3
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

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
arcSin

-3

5

4
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
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cos 2
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
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

arcSin
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2

1

2
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

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









arcTan 



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

Cos
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

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

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2



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
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









Sec 



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

arcCos







Sin

11 
6







arcSin







Cos 
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6
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.1 ( )( )arcCos 1 0 .2
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 TrigonometryExercise5 Answers for No.12964
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 TrigonometryExercise5 Answers for No.12971
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 TrigonometryExercise5 Answers for No.13023
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 TrigonometryExercise5 Answers for No.13033
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





arcSin







Sin


3


3

.6














arcSin







Cos

3 
4



4

.7














arcSin







Sin 

13 
6



6

.8














arcCos







Cos

4 
3

2 
3

.9














arcTan







Tan

11 
6



6

.10


















Csc









arcCos 

3

2
2 .11















Sec







arcSin







Cos 

5 
6

2 .12














ArcSin







Cos







ArcSin

-1

2


3
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







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
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


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.1














Cot







arcTan

-1

3
-3 .2



















Sin









arcTan 

5

7


6 5

18
.3


















Csc









arcSin 

5

8

8 5

5

.4
















Tan







arcCos

-2

5


21

2
.5
















Tan







arcSin
3

4

3 7

7
.6


















Sin









arcCos

3

5

22

5

.7
















Cos







arcSin

-1

6

35

6
.8
















Cos







arcTan
1

7

7 2

10
.9














Sec







arcCos
1

2
2
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.1
















Sin 







arcCos
5

7







arcSin
1

2


6 3

7

5

14
.2
















Cos 







arcCos
1

2







arcSin

-1

2

3

2

.3














Sin 2







arcCos
4

5

24

25
.4














cos 2







arcSin
1

5

23

25

.5














arcTan 







Cos

7 
2







Sin

3 
2



4

.6














Csc 







arcCos







Sin 

17 
6







arcSin







Cos

7 
3
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 TrigonometryExercise5 Answers for No.13197
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




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.1


















arcSin

3

2


3

.2






( )arcTan -1 


4

.3 ( )( )arcTan 0 0

.4 ( )( )arcSin 0 0 .5














arcCos

-1

2

2 
3

.6 ( )( )arcSin 7 undefined

.7 ( )( )arcCos -1  .8


















arcCos

2

2


4

.9


















arcSin 

2

2


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.1


















Sin









arcSin

3

2

3

2
.2






( )Cos ( )arcTan 3
1

2
.3


















Sin









arcCos

2

2

2

2

.4


















Tan









arcSin

2

2
1 .5















arcSin







Sin


4


4

.6














arcCos







Sin


6


3

.7














arcSin







Sin

5 
6


6

.8














arcCos







Cos 


6


6

.9














arcTan







Tan 

13 
6



6

.10 ( )( )Csc ( )arcTan 1 2 .11
















Cot







arcCos







Sin

7 
6


3

3
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

















ArcSin









Cos


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


ArcSin 
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 TrigonometryExercise5 Answers for No.13991
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 TrigonometryExercise5 Answers for No.14005
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 TrigonometryExercise5 Answers for No.14157
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